

- i. Verify the equality $x[(1+x)^n + (1+x)^{n+1} + \cdots + (1+x)^{n+m}] = (1+x)^{n+m+1} - (1+x)^n$ for polynomials.
- ii. Let k be a positive integer. Write $c_{n,m,k} = \binom{n}{k} + \binom{n+1}{k} + \binom{n+2}{k} + \cdots + \binom{n+m}{k}$.
- A. Suppose $k < n$. What is the value of $c_{n,m,k}$? Leave your answer in terms of n, m, k where appropriate.
- B. Suppose $n \leq k \leq n+m$. What is the value of $c_{n,m,k}$? Leave your answer in terms of n, m, k where appropriate.

(b) Let m be a positive integer.

- i. Applying the results in the previous parts, or otherwise, prove that

$$\sum_{r=5}^{m+4} r(r-1)(r-2)(r-3) = 24 \left(\binom{m+5}{5} - 1 \right).$$

- ii. Hence, or otherwise, find the value of $\sum_{r=0}^{m+4} r(r-1)(r-2)(r-3)$. Leave your answer in terms of m where appropriate.

8. Let p be a positive real number, satisfying $0 < p < 1$. Let n be a positive integer. For each $k = 0, 1, 2, \dots, n$,

define $a_k = \binom{n}{k} p^k (1-p)^{n-k}$.

(a) Show that $\sum_{r=0}^n a_r = 1$.

(b) Show that $0 < a_k < 1$ for each $k = 0, 1, \dots, n$.

(c) Define $\mu = \sum_{r=0}^n r a_r$. Show that $\mu = np$.

(d) Further define $\sigma = \sqrt{\sum_{r=0}^n (r - \mu)^2 a_r}$.

i. Show that $\sigma^2 = \sum_{r=0}^n r^2 a_r - \mu^2$.

ii. Show that $\sum_{r=0}^n r(r-1)a_r = n(n-1)p^2$. Hence deduce that $\sigma^2 = np(1-p)$.

Remark. The finite sequence of numbers a_0, a_1, \dots, a_n gives a **binomial distribution**. The numbers μ, σ are the mean and the standard deviation for this distribution.